## **RESOLUTION NO. 08-06-2020**

## A RESOLUTION AMENDING THE SANTAQUIN CITY UNIFORM BAIL SCHEDULE FOR FINES APPLICABLE TO CRIMINAL VIOLATIONS OF VARIOUS SANTAQUIN CITY ORDINANCES

WHEREAS, the City of Santaquin is a fourth class city of the state of Utah; and

WHEREAS, Utah cities are authorized by the Legislature to enact ordinances in order to promote and protect the health, safety and welfare of the people; and

WHEREAS, on July 18, 2012, the City Council adopted Ordinance No. 07-01-2012, establishing a schedule for fines applicable to criminal violations of various Santaquin City ordinances, and providing for future amendment of said schedule by resolution; and

**WHEREAS**, the City Council now desires to amend the Santaquin City Uniform Bail Schedule to promote the health, safety and welfare of the City and its residents.

**NOW THEREFORE, BE IT ORDAINED** BY THE CITY COUNCIL OF THE CITY OF SANTAQUIN, UTAH, AS FOLLOWS:

- I. <u>Amendment of Ordinance Bail Schedule.</u> The Santaquin City Uniform Bail Schedule Santaquin City Ordinances is hereby amended to read as set forth in Exhibit A hereto.
- II. Effective Date. This ordinance shall become effective upon passage.

ADOPTED AND APPROVED on the 18th day of August 2020.

Attest:

K. Aaron Shirley Santaquin City Recorder

## **EXHIBIT "A"**

## Santaquin City Uniform Bail Schedule Santaquin City Ordinances

CODE #	DESCRIPTION	CLASS	FINE \$
3-1-3	Failure to Maintain Business License	В	500
3-2-5	Failure to Charge/Pay Sales Tax	В	500
3-3-4	Energy Sales/Use Tax	В	500
3-4	Liquor Code violations	1 <sup>st</sup> Off C 2 <sup>nd</sup> Off B 3 <sup>rd</sup> Off B	1 <sup>st</sup> Off. – 150 2 <sup>nd</sup> Off. – 300 3 <sup>rd</sup> Off. – 500
3-8-5	Door to Door Solicitation Violation	1 <sup>st</sup> Off C 2 <sup>nd</sup> Off B	1 <sup>st</sup> Off 150 2 <sup>nd</sup> Off 500
4-1-5(C)	Illegal Burning (Negligent)	С	100
4-2	Nuisance (Default)	С	500
4-3	Hazardous Materials	В	500
4-4	Illegal Dumping	I	100
5-2	Animal Violation (Default)	С	150
5-2-4A	No License Tag	I	25
5-2-4B	Kennel Violation	I	125
5-2-6(a)	Dogs Attacking Person	С	500
5-2-6(b)	Dogs Attacking Animal	С	200
5-2-6(c)	Possession of Vicious Animal	С	300
5-2-7	No Rabies Tag	С	50
5-2-8	Animals at Large	I	50
5-2-9	Dog at Large	1 <sup>st</sup> Off I 2 <sup>nd</sup> Off C 3 <sup>rd</sup> Off B	1 <sup>st</sup> Off. – 50 2 <sup>nd</sup> Off. – 100 3 <sup>rd</sup> Off. – 150
5-2-10	Prohibited Acts & Conditions (Animals)	С	50
5-2-11(B)	Impounding	C	100
5-2-18	Dog Park Violation	I	50
5-3-1	Curfew Violation	С	$1^{st}$ Off. $-100$ $2^{nd}$ Off. $-200$ $3^{rd}$ Off. $-300$
5-3-1(D)	Curfew (Parent Liability)	С	1 <sup>st</sup> Off. – 100 2 <sup>nd</sup> Off. – 200 3 <sup>rd</sup> Off. – 300
6-2	OHV Regulations (Default)	С	100
6-2-2	OHV Undesignated Street	C	50
6-2-3	OHV Speeding	С	16-25 mph - 50 25 + mph - 150

6-2-4	OHV Mufflers	I	50
6-2-5	OHV Expired Reg.	С	50
6-2-6	No OHV License or Safety Certificate	С	50
6-2-7	Husbandry Implement on Highway	С	50
6-2-8	No Protective Headgear/Eyewear	С	50
6-2-9	Improper Riding Area	I	50
6-2-10	Riding OHV After Dark	I	50
6-4-3	Improper Mobile Home/Trailer Storage	I	50
7-1	Streets (Default)	I	100
7-1-2	Encroachment Permit Violation	В	1,000
7-1-3	Winter Parking	I	1 <sup>st</sup> Off. – 20 2 <sup>nd</sup> Off. – 30 3 <sup>rd</sup> Off. – 50
7-1-4	Snow Removal	I	1 <sup>st</sup> Off. – 50 2 <sup>nd</sup> Off. – 100 3 <sup>rd</sup> Off. – 300
7-1-5	Street Obstruction	I	$1^{st}$ Off. $-100$ $2^{nd}$ Off. $-200$ $3^{rd}$ Off. $-300$
7-1-6	Discharge of Water	I	1 <sup>st</sup> Off. – 50 2 <sup>nd</sup> Off. – 100 3 <sup>rd</sup> Off. – 300
7-1-7	Sidewalk regulations	I	$1^{st}$ Off. $-50$ $2^{nd}$ Off. $-100$ $3^{rd}$ Off. $-200$
7-1-8	Driving Animals on Street	I	1 <sup>st</sup> Off. – 50 2 <sup>nd</sup> Off. – 100 3 <sup>rd</sup> Off. – 200
7-1-11	Commercial Vehicles Over 4-Axels on Restricted Roads	Ι	500
7-2	Excavation Violations	В	500
7-3	Cemetery Violations	С	200
7-4-6	Trail Violations	С	50
8-2-2	Unsanitary Disposal of Waste	В	300
9-1-2*	Commencing Work w/o Posting an Inspection Record Card	I	50
9-1-3(f)	Failure to Obtain Required Building Inspection	I	250
9-1-3(g)	Failure to Keep Work Accessible & Exposed Until Approved by the Building Inspector	В	250

10-6-24	Living in a Recreational	C	<10 days – 50
	Vehicle		10-30  days - 200
			>30 days - 500
10-11-6	Failure to Obtain	В	583
	Certificate of Occupancy		
10-13-6(b)	Signs Prohibited	C	25
10-18	Animal Rights Violation	С	50
	(Default)		
10-18-10	Location of Structure	Civil	Civil
10-18-5(D)	Animal Noise Nuisance	C	1 <sup>st</sup> Off. – 50
			$2^{nd}$ Off. $-100$
			$3^{rd}$ Off. $-200$
10-18-8(C)	Harboring 4 + Animals	C	1 <sup>st</sup> Off. – 50
			$2^{nd}$ Off. $-200$
			$3^{rd}$ Off. $-200$
10-18-8(D)	Farm Animal Violation	I	50
10-18-9(B)	Property Line Violation	C	1 <sup>st</sup> Off. – 50
			2 <sup>nd</sup> Off. – 200
			3 <sup>rd</sup> Off. – 300

Amended August 18, 2020